

Provided for non-commercial research and educational use.  
Not for reproduction, distribution or commercial use.

# Serdica

Bulgariacae mathematicae  
publicationes

---

# Сердика

Българско математическо  
списание

---

The attached copy is furnished for non-commercial research and education use only.  
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on  
Serdica Bulgaricae Mathematicae Publicationes  
and its new series Serdica Mathematical Journal  
visit the website of the journal <http://www.math.bas.bg/~serdica>  
or contact: Editorial Office  
Serdica Mathematical Journal  
Institute of Mathematics and Informatics  
Bulgarian Academy of Sciences  
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49  
e-mail: [serdica@math.bas.bg](mailto:serdica@math.bas.bg)

# A SHORT AND CONSTRUCTIVE APPROACH TO THE JORDAN CANONICAL FORM OF A MATRIX

UWE PITTELKOW, HANS-J. RUNCKEL

**1. Introduction.** The many publications on the Jordan canonical form (J. c. f.) which appeared during the last decades ([1—26], [10, 215—234], [12, 149—202], [16, 143—155]) show that there still exists a demand for a short, elementary, and constructive approach to the J. c. f. of a matrix. In the present paper a new and simple algorithm is described to construct a matrix which transforms a given matrix whose eigenvalues are known into its J. c. f. This algorithm again proves the existence of the J. c. f. and requires in practice only a comparatively small number of calculations. Also diagonalizability and differential equations are considered.

**2. Notations.** Let  $A$  be a  $(n, n)$ -matrix with elements in  $\mathbb{C}$ , whose eigenvalues are explicitly known and denote by  $I$  the  $(n, n)$ -identity matrix. Put  $c(\lambda) := \det(\lambda I - A) = \prod_{\nu=1}^k (\lambda - \lambda_{\nu})^{n_{\nu}}$  where the  $\lambda_{\nu}$  are different,  $n_{\nu} \geq 1, \nu = 1, \dots, k$  and  $n_1 + \dots + n_k = n$ . For  $j = 1, \dots, k$  we then put  $p_j(\lambda) := (\lambda - \lambda_j)^{n_j}$ ,  $q_j(\lambda) = c(\lambda) / p_j(\lambda)$ ,  $q(\lambda) = \sum_{j=1}^k q_j(\lambda)$ ,  $B_j := q_j(A)$ ,  $B := q(A)$ ,  $V_j := \{x \in \mathbb{C}^n : p_j(A)x = 0\}$ . All considerations remain valid if  $\mathbb{C}$  is replaced by an arbitrary field in which  $c(\lambda)$  splits into linear factors.

**3. Properties of the characteristic polynomial.** Lemma 1.  $B$  is non-singular. (See also [20, Lemma 2])

*Proof.* The Hamilton-Cayley-theorem for  $A$  and  $q(\lambda) - q(\lambda_j) = (\lambda - \lambda_j)r_j(\lambda)$  imply  $\prod_{j=1}^k (q(A) - q(\lambda_j)I)^{n_j} = 0$ , or  $p(B) = 0$  where  $p(\lambda) := \prod_{j=1}^k (\lambda - q(\lambda_j))^{n_j}$  and  $p(0) \neq 0$ , since  $q(\lambda_j) = q_j(\lambda_j) \neq 0, j = 1, \dots, k$ . Put  $r(\lambda) := (p(0) - p(\lambda)) / p(0)\lambda$ . Then  $Br(B) = I$  and thus  $B$  is invertible.

*Remark.* After transforming  $A$  into a similar triangular matrix it follows that  $q(A)$  has exactly the  $n_j$ -fold eigenvalues  $q(\lambda_j), j = 1, \dots, k$ . This again implies  $\det B \neq 0$ . Also for a triangular matrix the Hamilton-Cayley-theorem easily can be verified.

**Theorem 1 (Rational decomposition theorem).** The columns of  $B_j$  span  $V_j, j = 1, \dots, k$ , and  $\mathbb{C}^n = V_1 \oplus \dots \oplus V_k$ .

*Proof.* Let  $V'_j$  be the subspace of  $\mathbb{C}^n$  spanned by the columns of  $B_j$ . Since  $p_j(A)B_j = 0, j = 1, \dots, k$  (Hamilton-Cayley),  $V'_j \subset V_j$  follows. Thus  $B = \sum_{j=1}^k B_j$  and Lemma 1 imply  $\mathbb{C}^n = V'_1 + \dots + V'_k = V_1 + \dots + V_k$ . Assume that  $x_1 + \dots + x_k = 0$ , where  $x_j \in V_j$ . Then  $0 = B_j(x_1 + \dots + x_k) = B_j x_j = (B_1 + \dots + B_k)x_j = Bx_j$  since for  $i \neq j$   $B_i$  contains the factor  $p_j(A)$ . Thus,  $x_j = 0, j = 1, \dots, k$ , and  $\mathbb{C}^n = V'_1 \oplus \dots \oplus V'_k = V_1 \oplus \dots \oplus V_k$ . This and  $V'_j \subset V_j$  imply  $V'_j = V_j$  and hence  $\text{rank } B_j = \dim V_j$ .

**4. The J. c. f. of  $A$ .** For any  $0 \neq x \in V_j$   $x^{(r)} := (A - \lambda_j I)^{r-1} x$ ,  $r = 1, 2, \dots$  is called the  $\lambda_j$ -chain of  $x$ , and  $m$  its length, if  $x^{(m)} \neq 0$  and  $x^{(m+1)} = 0$ . Then  $x^{(r)} \in V_j$  for all  $r$  and  $1 \leq m \leq n_j$ . Observe that  $x^{(r+1)} = (A - \lambda_j I)x^{(r)}$ ,  $r = 1, 2, \dots$

Starting with the non-zero columns  $x_1, \dots, x_{t_j}$  of  $B_j$  (or with any other set of non-zero vectors which span  $V_j$ ) we construct a special (Jordan-) basis of  $V_j$  according to the following algorithm. (See Theorem 3 for  $\dim V_j = n_j$ .)

a) Arrange the  $\lambda_j$ -chains of  $x_\nu$  having length  $m_\nu$ ,  $\nu = 1, \dots, t_j$ , according to their lengths in decreasing order, and assume (w. l. o. g.) that  $m_1 \geq \dots \geq m_{t_j}$  holds. Next, assume that for some  $s \geq 1$   $x_\nu^{(m_\nu)}$ ,  $\nu = 1, \dots, s$ , are linearly independent. Then  $x_\nu^{(r)}$ ,  $r = 1, \dots, m_\nu$ ,  $\nu = 1, \dots, s$ , altogether are linearly independent. This can be seen by successively applying  $(A - \lambda_j I)^{m_1 - r}$ ,  $r = 1, \dots, m_1$ , to a vanishing linear combination of these vectors which always yields a vanishing linear combination of  $x_\nu^{(m_\nu)}$ ,  $\nu = 1, \dots, s$ . Therefore, eventually, all coefficients have to be zero (see [19, Lemma 1]).

b) Assume, next, that  $x_\nu^{(m_\nu)}$ ,  $\nu = 1, \dots, s+1$ , are linearly dependent. Then  $x_{s+1}^{(m_{s+1})} = \sum_{\nu=1}^s \alpha_\nu x_\nu^{(m_\nu)}$  with certain coefficients  $\alpha_\nu$  and we put  $y := x_{s+1} - \sum_{\nu=1}^s \alpha_\nu x_\nu^{(m_\nu - m_{s+1} + 1)}$ . Observe that  $m_\nu \geq m_{s+1}$ . If  $y = 0$ , then the chain of  $x_{s+1}$  is deleted. If  $y \neq 0$ , then, again, the chain of  $x_{s+1}$  is deleted, and the chain of  $y$ , having length  $< m_{s+1}$ , is placed between the remaining chains such that all chains again are arranged according to their lengths in decreasing order. This elementary operation does not alter the total number of linearly independent vectors among all chains, and at the start  $x_\nu^{(1)} = x_\nu$ ,  $\nu = 1, \dots, t_j$ , span  $V_j$  by Theorem 1.

The procedure described in b) can be repeated until, finally, a set of  $s_j \geq 1$   $\lambda_j$ -chains  $z_\nu^{(r)}$ ,  $r = 1, \dots, n_{j\nu}$ , (of length  $n_{j\nu} \leq n_j$ ),  $\nu = 1, \dots, s_j$ , remains with the property that now all  $z_\nu^{(n_{j\nu})}$ ,  $\nu = 1, \dots, s_j$ , are linearly independent. Therefore, all  $z_\nu^{(r)}$ ,  $r = 1, \dots, n_{j\nu}$ ,  $\nu = 1, \dots, s_j$ , together form a basis of  $V_j$  and  $\dim V_j = n_{j1} + \dots + n_{js_j}$ . Then  $Az_\nu^{(r)} = (A - \lambda_j I)z_\nu^{(r)} + \lambda_j z_\nu^{(r)} = z_\nu^{(r+1)} + \lambda_j z_\nu^{(r)}$  for  $r = 1, \dots, n_{j\nu}$  with  $z_\nu^{(n_{j\nu}+1)} = 0$  and, as usual,  $A(z_\nu^{(1)}, z_\nu^{(2)}, \dots, z_\nu^{(n_{j\nu})}) = (z_\nu^{(1)}, z_\nu^{(2)}, \dots, z_\nu^{(n_{j\nu})})J_{j\nu}$ , where the  $(n_{j\nu}, n_{j\nu})$ -matrix

$J_{j\nu} = \begin{pmatrix} \lambda_j & & 0 \\ & \ddots & \\ 1 & & \\ & & \ddots & \\ & & & 1 & \lambda_j \\ 0 & & & & \end{pmatrix}$  is called the  $\lambda_j$ -Jordan block corresponding to the  $\lambda_j$ -chain

of  $z_\nu$ . These considerations and Theorem 1 yield

**Theorem 2 (J. c. f. of  $A$ ).** *If for  $j = 1, \dots, k$ , all  $\lambda_j$ -chains  $z_\nu^{(1)}, \dots, z_\nu^{(n_{j\nu})}$ , ( $n_{j\nu} \leq n_j$ ),  $\nu = 1, \dots, s_j$ , which were constructed above, are written next to each other and combined in the  $(n, n)$ -(chain) matrix  $C$ , then  $C$  is non-singular. Furthermore,  $AC = CJ$  or  $C^{-1}AC = J$  holds with a  $(n, n)$ -(Jordan)*

*matrix  $J = \begin{pmatrix} J_1 & & 0 \\ & \ddots & \\ 0 & & J_t \end{pmatrix}$ , where  $J_1, \dots, J_t$  ( $t = s_1 + \dots + s_k$ ) are all  $\lambda_j$ -Jordan blocks corresponding to the  $\lambda_j$ -chains in  $C$  ( $j = 1, \dots, k$ ).*

Next, put  $r_{j\varrho} := \text{rank } (A - \lambda_j I)^\varrho$ ,  $\varrho = 0, 1, \dots$  and let  $N_{j\varrho}$  denote the number of  $\lambda_j$ -Jordan blocks in  $J$  which are  $(\varrho, \varrho)$ -matrices,  $\varrho = 1, 2, \dots$ .

**Theorem 3.**  $r_{jn_j} = \text{rank } p_f(A) = n - n_j$  and therefore  $\text{rank } B_j = \dim V_j = n_j$ . Furthermore  $N_{j\varrho} = r_{j,\varrho-1} - 2r_{j\varrho} + r_{j,\varrho+1}$  for  $\varrho = 1, 2, \dots$  and thus  $J$  is uniquely

determined by  $A$  except for the order of succession of the Jordan blocks on the diagonal of  $J$ .

**Proof.** Let  $I_{j\nu}$  denote the  $(n_{j\nu}, n_{j\nu})$ -identity matrix. Theorem 2 implies  $r_{j\varrho} = \text{rank } (J - \lambda_j I)^\varrho = \sum_{i=1}^k \sum_{\nu=1}^{s_i} \text{rank } (J_{i\nu} - \lambda_j I_{i\nu})^\varrho = n - n_j + \sum_{\nu=1}^{s_i} \text{rank } (J_{j\nu} - \lambda_j I_{j\nu})^\varrho = n - n_j + \sum_{\nu=1}^{s_i} \max(n_{j\nu} - \varrho, 0)$ . Since all  $n_{j\nu} \leq n_j$ ,  $r_{jn_j} = n - n_j$  follows and, hence  $\text{rank } B_j = \dim V_j = n_j$  by Theorem 1. Next,  $d_{j\varrho}^j := r_{j, \varrho-1} - r_{j\varrho} = \sum_{n_{j\nu} \geq \varrho} 1$ , and, hence  $d_{j\varrho} - d_{j, \varrho+1} = \sum_{n_{j\nu} = \varrho} 1 = N_{j\varrho}$  follow.

**5. Concluding remarks.** Remark 1. Observe that the algorithm in 4 automatically yields a longest  $\lambda_j$ -chain. As soon as  $s_j \lambda_j$ -chains  $y_\nu^{(r)}$ ,  $r=1, \dots, n_{j\nu}$ ,  $\nu=1, \dots, s_j$ , are found such that  $n_{j1} + \dots + n_{js_j} = n_j$  and  $y_\nu^{(n_{j\nu})}$ ,  $\nu=1, \dots, s_j$  are linearly independent, the procedure b) of the algorithm can be stopped. If, in particular,  $A$  is nilpotent, then the chains consist of columns of  $A^0, A, \dots, A^n$ .

Remark 2. By theorem 1  $V_j$  coincides with the  $\lambda_j$ -eigenspace of  $A$  iff  $(A - \lambda_j I)B_j = 0$ .

Remark 3. Put  $p(\lambda) := \prod_{j=1}^k (\lambda - \lambda_j)$ . Then by Theorem 1  $A$  is diagonalizable if  $p(A) = 0$ . (Observe that in  $\mathbb{C} p(\lambda) = c(\lambda)/d(\lambda)$ , where  $d(\lambda)$  is the gcd of  $c(\lambda)$  and  $c'(\lambda)$ ., Since  $p(A) = 0$  implies  $(A - \lambda_j I)B_j = 0$  for  $j=1, \dots, k$ , by Remark 2 and Theorem 1  $A$  altogether has  $n$  linearly independent eigenvectors. Therefore,  $A$  is diagonalizable and the converse is trivial.

Remark 4. By Lemma 1  $A = \sum_{j=1}^k AB_j B^{-1} = D + N$  where  $N := \sum_{j=1}^k (A - \lambda_j I) B_j B^{-1}$  is nilpotent since  $B_i B_j = 0$  for  $i \neq j$ , and  $D := \sum_{j=1}^k \lambda_j B_j B^{-1}$  is diagonalizable by Remark 3, since  $p(D) = 0$ . Also  $N, D$  are commuting polynomials in  $A$  (see [5]).

Remark 5.  $Y(t) := \sum_{j=1}^k e^{\lambda_j(t-t_0)} \sum_{\nu=0}^{n_{j\nu}-1} \frac{(t-t_0)^\nu}{\nu!} (A - \lambda_j I)^\nu B_j$  satisfies  $Y'(t) = AY(t)$  and  $Y(t_0) = B$ . Hence, by Lemma 1,  $Y(t)$  is a fundamental matrix (real for real  $A$ ) of the differential equation  $y' = Ay$  and  $e^{A(t-t_0)} = Y(t)B^{-1}$  (see [20]).

Remark 6. As an example assume that  $A = \begin{pmatrix} T_1 & & * \\ & \ddots & \\ O & & T_k \end{pmatrix}$  where for  $j=1,$

$\dots, k$ ,  $T_j = \begin{pmatrix} \lambda_j & & * \\ & \ddots & \\ O & & \lambda_j \end{pmatrix}$  is a  $(n_j, n_j)$ -triangular matrix. Considering the general solution vector  $x \in \mathbb{C}^n$  of  $(A - \lambda_j I)^\varrho x = 0$  yields  $n - r_{j\varrho} = n_j - \text{rank } (T_j - \lambda_j I)^\varrho$  for all  $j, \varrho$  where  $I_j$  is the  $(n_j, n_j)$ -identity matrix. Hence by Theorem 3  $J$  only depends on the blocks  $T_1, \dots, T_k$  and  $A$  is diagonalizable by Remark 3 iff  $T_1, \dots, T_k$  are diagonal matrices. Assume, finally, that for some  $j$

$T_j = \begin{pmatrix} T_{j1} & & O \\ & \ddots & \\ O & & T_{js_j} \end{pmatrix}$  where for  $\nu=1, \dots, s_j$  ( $1 \leq s_j \leq n_j$ ),  $T_{j\nu} = \begin{pmatrix} \lambda_j & & * \\ & \ddots & \\ O & & \lambda_j \end{pmatrix}$  is a

$(n_{j\nu}, n_{j\nu})$  triangular matrix with non-zero (if  $n_{j\nu} > 1$ ) super diagonal elements. For  $\nu=1, \dots, s_j$  let  $x_\nu$  be the  $(n_1 + \dots + n_{j-1}) + (n_{j1} + \dots + n_{j\nu})$ -th column of  $B_j$ . Then, by considering  $(A - \lambda_j I)^{-1} B_j$ ,  $r=1, 2, \dots$ , the  $\lambda_j$ -chain of  $x_\nu$  has length  $n_{j\nu}$  and for  $\nu=1, \dots, s_j$  all vectors of these chains form a Jordan basis of  $V_j$ . In particular,  $J$  contains exactly the  $\lambda_j$ -Jordan blocks  $J_{j\nu}$  of type  $(n_{j\nu}, n_{j\nu})$ ,  $\nu=1, \dots, s_j$ .

## Example 1

$$A = \begin{pmatrix} 1 & -1 & 1 & -1 \\ -3 & 3 & -5 & 4 \\ 8 & -4 & 3 & -4 \\ 15 & -10 & 11 & -11 \end{pmatrix}. \text{ Here } \lambda_1 = -1, n_1 = 4. \text{ Hence } B_1 = I,$$

$$(A+I) = \begin{pmatrix} 2 & -1 & 1 & -1 \\ -3 & 4 & -5 & 4 \\ 8 & -4 & 4 & -4 \\ 15 & -10 & 11 & -10 \end{pmatrix}, (A+I)^2 = \begin{pmatrix} 0 & 0 & 0 & 0 \\ 2 & -1 & 1 & -1 \\ 0 & 0 & 0 & 0 \\ -2 & 1 & -1 & 1 \end{pmatrix}, (A+I)^3 = 0.$$

Thus, there are 4  $\lambda_1$ -chains of length 3. We choose

$$x_1 = \begin{pmatrix} 0 \\ 1 \\ 0 \\ 0 \end{pmatrix}, x_2 = \begin{pmatrix} 0 \\ 0 \\ 1 \\ 0 \end{pmatrix} \text{ with } x_1^{(1)} = x_1, x_1^{(2)} = \begin{pmatrix} -1 \\ 4 \\ -4 \\ -10 \end{pmatrix}, x_1^{(3)} = \begin{pmatrix} 0 \\ -1 \\ 0 \\ 1 \end{pmatrix} \text{ and}$$

$$x_2^{(1)} = x_2, x_2^{(2)} = \begin{pmatrix} 1 \\ -5 \\ 4 \\ 11 \end{pmatrix}, x_2^{(3)} = \begin{pmatrix} 0 \\ 1 \\ 0 \\ -1 \end{pmatrix}. \text{ Since } x_2^{(3)} = -x_1^{(3)} \text{ we replace the chain of}$$

$$x_2 \text{ by the chain of } y := x_1 + x_2^{(1)}. \text{ Then } y^{(1)} = \begin{pmatrix} 0 \\ 1 \\ 1 \\ 0 \end{pmatrix}, y^{(2)} = \begin{pmatrix} 0 \\ -1 \\ 0 \\ 1 \end{pmatrix}, y^{(3)} = 0.$$

Since  $y^{(2)} = x_1^{(3)}$ , we finally replace the chain of  $y$  by the chain of  $z := y - x_1^{(3-2+1)}$

$$= y - x_1^{(2)}. \text{ Then } z^{(1)} = \begin{pmatrix} 1 \\ -3 \\ 5 \\ 10 \end{pmatrix}, z^{(2)} = 0 \text{ and}$$

$$C = (x_1^{(1)}, x_1^{(2)}, x_1^{(3)}, z) = \begin{pmatrix} 0 & -1 & 0 & 1 \\ 1 & 4 & -1 & -3 \\ 0 & -4 & 0 & 5 \\ 0 & -10 & 1 & 10 \end{pmatrix}, C^{-1} = \begin{pmatrix} -2 & 1 & -1 & 1 \\ -5 & 0 & 1 & 0 \\ -10 & 0 & 0 & 1 \\ -4 & 0 & 1 & 0 \end{pmatrix}$$

$$\text{yield } C^{-1}AC = J = \begin{pmatrix} J_1 & O \\ O & J_2 \end{pmatrix} \text{ with } J_1 = \begin{pmatrix} -1 & 0 & 0 \\ 1 & -1 & 0 \\ 0 & 1 & -1 \end{pmatrix}, J_2 = (-1).$$

## Example 2

$$A = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ -1 & 1 & 1 \end{pmatrix}. \text{ Here } \lambda_1 = 1, n_1 = 2 \text{ and } \lambda_2 = -1, n_2 = 1.$$

$$B_1 = (A+I) = \begin{pmatrix} 1 & 1 & 0 \\ 0 & 1 & 1 \\ -1 & 1 & 2 \end{pmatrix}, B_2 = (A-I) = \begin{pmatrix} 1 & -2 & 1 \\ -1 & 2 & -1 \\ 1 & -2 & 1 \end{pmatrix}.$$

Since  $(A+I)B_2=0$   $y=\begin{pmatrix} 1 \\ -1 \\ 1 \end{pmatrix}$  is  $\lambda_2$ -eigenvector.

Since  $(A-I)B_1=\begin{pmatrix} -1 & 0 & 1 \\ -1 & 0 & 1 \\ 1 & 0 & 1 \end{pmatrix}$ , we can choose as  $\lambda_1$ -chain:

$$x_1^{(1)}=\begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}, \quad x_1^{(2)}=-\begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}. \quad \text{Then } C=(-x_1^{(1)}, -x_1^{(2)}, y)=\begin{pmatrix} -1 & 1 & 1 \\ 0 & 1 & -1 \\ 1 & 1 & 1 \end{pmatrix},$$

$$C^{-1}=\frac{1}{4}\begin{pmatrix} -2 & 0 & 2 \\ 1 & 2 & 1 \\ 1 & -2 & 1 \end{pmatrix}$$

yields  $C^{-1}AC=J=\begin{pmatrix} J_1 & O \\ O & J_2 \end{pmatrix}$  with  $J_1=\begin{pmatrix} 1 & 0 \\ 1 & 1 \end{pmatrix}$ ,  $J_2=(-1)$ .

## REFERENCES

1. G. A. Bekiřev. On a method for reduction of matrices to Jordan canonical form. *Z. Vyčisl. Mat. i Mat. Fiz.* **5**, 1965, 722—726.
2. H. Boseck. Ein Algorithmus zur Bestimmung der Jordanschen Normalform, *Publ. Inst math. (Beograd) (N. S.)*, **9**, 1969, 167—176.
3. E. T. Browne. On the reduction of a matrix to a canonical form. *Amer. Math. Monthly*, **47**, 1940, 437—450.
4. H. F. Bückner. A minimal property of the Jordan canonical form. *Linear Algebra and Appl.*, **1**, 1968, 503—510.
5. N. Burgoyne, R. Cushman. The decomposition of a linear mapping. *Linear Algebra and Appl.*, **8**, 1974, 515—519.
6. S. Cater. An elementary development of the Jordan canonical form. *Amer. Math. Monthly* **69**, 1962, 391—393.
7. E. Egerváry. Über eine konstruktive Methode zur Reduktion einer Matrix auf die Jordansche Normalform. *Acta Math. Acad. Sci. Hungar.*, **10**, 1959, 31—54.
8. H. K. Farahat. A note on the classical canonical form. *J. London Math. Soc.*, **32**, 1957, 178—180.
9. A. F. Filippov. A short proof of the theorem on reduction of a matrix to Jordan form, *Vestnik Moskov. Univ. Ser. I Mat. Meh.* **26**, 1971, no. 2, 18—19.
10. D. T. Finkbeiner II. Introduction to matrices and linear transformations. 3rd ed., San Francisco, 1978.
11. A. Fontaine. Profils et réduite transjordanienne d'une matrice carrée. *Enseign. Math.* (2), **23**, 1977, 117—128.
12. F. R. Gantmacher. The theory of matrices, Vol. 1. New York, 1960.
13. E. R. Gentile. An elementary proof of the Jordan canonical form. *Rev. Un. Mat. Argentina*, **27**, 1974/75, 1—4.
14. V. J. Gonçalves. Sur la transformée  $J$  d'une matrice carrée. *Univ. Lisboa. Revista Fac. Cl. A.* (2), **5**, 1956, 343—352.
15. H. L. Hamburger. Remarks on the reduction of a linear transformation to Jordan's normal form. *J. London Math. Soc.*, **22**, 1947, 173—179.
16. J. Heinhold, B. Riedmüller. *Lineare Algebra and Analytische Geometrie*, Vol. 2, München, 1973.
17. H. Hochstadt. Laplace transforms and canonical matrices, *Amer. Math. Monthly*, **71**, 1964, 728—736.
18. M. S. Huzurbazar. The classical canonical form of a nilpotent matrix. *Quart. J. Math.*, **6**, 1955, 73—76.
19. A. J. Insel. Nilpotent transformations and the decomposition of a vector space. *Amer. Math. Monthly*, **81**, 1974, 160—162.

20. R. B. Kirchner. An explicit formula for  $e^{At}$ . *Amer. Math. Monthly*, **74**, 1967, 1200—1204.
21. G. Kreisselmeier. On the determination of the Jordan form of a matrix. *IEEE Trans. Automatic Control*, **AC-18**, 1973, 686—687.
22. S. Kurepa, K. Veselić. Transformation of a matrix to normal forms. *Glas. Mat. Ser. III*, **2**, 1967, 39—51.
23. V. Pták. Eine Bemerkung zur Jordanschen Normalform von Matrizen. *Acta Sci. Math., Szeged*, **17**, 1956, 190—194.
24. B. Z. Raihštein. An elementary proof of the theorem on reducing the tce matrix of a linear operator to Jordan form. *Jaroslav. Gos. Ped. Inst. Dokl. Naucn. Konfer.*, **2**, 1964, vyp. 3, 99—102.
25. H. Reichardt. Einfache Herleitung der Jordanschen Normalform. *Wiss. Z. Humboldt- Univ. Berlin, Math.-Nat. Reihe*, **3**, 1954, 445—447.
26. L. G. Roberts. Higher derivations and the Jordan canonical form of the companion matrix. *Canad. Math. Bull.*, **15**, 1972, 143—144.

Abteilungen Mathematik I und IV, Universität Ulm  
Oberer Eselsberg, 7900 Ulm

BRD

Received 29. 2. 1980